1-2sinx forx=10

—4x

Let f be a function defined by f{x) =
T e forx > 0.

{a) Show that f 1s continuous at x = 0.
(b) For x = 0, express f'(x) as a piecewise-defined function. Find the value of x for which f'(x) = -3.
(c) Find the average value of f on the interval [-1 1].

(a) lim {1-2sinx)=1 2 : analysis
x—0
lim ¥ =1
x—0"
fo)=1

So, tim 7(x) = £(0).

Therefore f 1s continuous at x = 0.

[-2cosx forx <0

® flix)= g J2:1(x)
1_42 traa 3'11:1mmeofx
—2cos x = =3 for all values of x < 0.
4 L 1. (3)
4™ = _3 when x = —E].IJ{E:) = 0.
v 1, /3]
Therefore f'(x) = -3 for x = —1]1113).




